AT' Model A15/76 Turbidity Monitor - Enclosure Dimensions

PANEL MOUNT VERSION
6.10"
154.9mm
378" 5.46°
96mm _ 34" 138.7mm
rs.ﬁmm
3.78" ; 3.54"
96mm : 89.9mm
o N
ANALYTICAL TECHNOLOGY, INC. - Dﬂ
ATI-0124
NEMA-4X VERSION NOTES
8.10° 1) Panel Mount Enclosure Material:
20omm Aluminum, Black Anodized
191mm
2) Nema-4X Encloure Material:
29 ©] Base: Molded ABS, (tan in color)
. ® ® Cover: Clear Polycarbonate with
1L k. AL dual hinge.
"
3) Nema-4X Rating:
580" (== JA VI
147mm P—— NEMA rated types 4,4X
® ® IEC 529 rated P66
) © Flammibility Rating UL94 HB
(2) Pg 16 CORD GRPS Pg 11 CORD GRIPS
6.92°
176mm
o) 0
9.33°
237mm
I 7 \,1 I ﬁ
[ 1 L .I' ‘I L1
L4 Loe
45mm 45mm
ATI-010 ‘ 810" ‘
! 206mm 1

SS-A1576, Rev-E (8/11)

Page 1 of 14




AT' Model A15/76 Turbidity Monitor - Optional Equipment Dimensions

JUNCTION BOX NOTES
"—;a'fs,z",i.-m 1) Nema-4X Encloure Material:
Molded FRP (Fiberglas reinforced
S polyester),gray in color.

2) Nema-4X Rating:

. i D UL listed per std. 508

94 mm CSA certified per std. C22.2 No. 94
NEMA rated types 4,4X,6,6P,12,13
CEMA rated types 2,3,4 and 5

IEC 529 rated IP 67-11

3) Mounting Dimensions:

370"
ZPG 11 CORD SEAL o CONDUIT ADAPTOR 3.11" [79mm] x 3.11" [79mm]
FRONT VIEW PG 16 T0 1/2" NPT

4) Part No. 00-0726.

i N I
] T - ,T

ATI-0241

RE (8/11) Page 2 of 14



AT' Model A15/76 Turbidity Monitor - Installation Diagrams

PANEL MOUNT NOTES
1) Front of panel is NEMA 1, general purpose
360" only.
91.4mm
| 2) Panel mounting clips supplied with monitor.
1]
3.60"
91.4mm
—|]] D]
MOUNTING CLIPS
PANEL CUT-OUT (2 PER UNIT)
ATI-0125
WALL MOUNT - NEMA-4X
- ~ 1) Wall mounting requires customer supplied
screws or bolts.
® ®
A
—
e A V)T L HARDWARE IS
CUSTOMER SUPPLIED
e omoos, v / (TYPICAL 4 CORNERS)
® ®
@

ATI-0126

HANDRAIL MOUNT - NEMA-4X

Hordware supplied by ATl
#10-32 x 1" PHNS, S5,

22 1/8"

4
faf & EA 1/4-20 Lock Washers, S.S.
4) #10 Hex Nuts, S5.
il
NEMA-4X Monitar
e
- e L 1
9 g

/(2) Auminum U~Channel (48-0017)

/ (4) 1/4-20 U-Bolts (47-0005)

3

u \
2° Handral

ATI-043

1) All listed hardware is supplied as part of
handrail mounting kit # 00-0139.

RE (8/11)

Page 3 of 14



AT' Model A15/76 Turbidity Monitor - Terminal Block Designations

A15/76 TURBIDITY MONITOR (VAC) ELECTRICAL CONNECTIONS

TS DOy

Gy 2

ATI-0443

A15/76 TURBIDITY MONITOR

(BACK VIEW)

162

OOV LOO

[14]15[16]17]18]19]20]21]22|23]24]| 2]

+ + - V-
R1 RZ RO
AN. OUT.

AN

4 VA MAX.
50/60 Hz

, — AT B
0 110 220 — NO C

V+ L2 OP IT SH IC 05

r C/Dn

NC NO C NC NO C NO

1 ]2]3]4]5]6]7]8]910[11]12]13

QOO0 OO0OOOOOOOO0

1B

181 182
AC POWER — Neutral 14: 4-20 mA OUTPUT CHANNEL 1 (+)
AC POWER - 110V — HOT 15: UNUSED
AC POWER - 220V - HOT 16: 4=20 mA OUTPUT CHANNEL (-)
AC — EARTH GROUND 17: SENSOR =12V - RED
RELAY A — Normally open 18: SENSOR +12V — GREEN
RELAY A — Common 19: SENSOR CONTROL LED — BLUE
RELAY A — Normally closed 20: UNUSED
RELAY B — Normally open 21: SENSOR COMMON — BROWN
RELAY B — Common 22: SENSOR HI TURBIDITY SIGNAL — YELLOW
RELAY B — Normally closed 235: SENSOR SHIELD - COPPER BRAID
CLEANER RELAY C — Normally open 24: SENSOR CHECK SIGNAL —  WHITE
RELAY C/D = Common 25: SENSOR LO TURBIDITY SIGNAL — GRAY

CLEANER RELAY D — Normally open

RE (8/11)

Page 4 of 14



ATI

A15/76 TURBIDITY MONITOR (VDC) ELECTRICAL CONNECTIONS

A15/76 TURBIDITY MONITOR

(BACK VIEW)

1B2

OOV YL

14]1 5\ 61 7\ 8|1 9\2@\2 [22]23]24]25]
V+

(+)
(=)

CONTROL LED — BLUE

COMMON — BROWN

HI TURBIDITY SIGNAL — YELLOW
SHIELD — COPPER BRAID

WHITE

LO TURBIDITY SIGNAL — GRAY

+ - OP IT SH IC 0S
R1 RQ RO
AN. OUT.
4W
IV A B oD
+ - = N0 C NC NO C NC NO C NO
1]2]3]4]5]6]7]8]9 10111213
OO OO OOOOOOOOO
1B
181 52
1. DC POWER - (+) 14: 4-20 mA OUTPUT CHANNEL 1
2. UNUSED 15: UNUSED
5 DC POWER - (=) 16: 4-20 mA OUTPUT CHANNEL 1
4. DC — EARTH GROUND 17: SENSOR —12V — RED
5. RELAY A — Normally open 18: SENSOR +12V - GREEN
0. RELAY A — Common 19: SENSOR
/. RELAY A — Normally closed 20: UNUSED
3. RELAY B — Normally open 21 SENSOR
9. RELAY B — Common 272: SENSOR
10: RELAY B — Normally closed 235 SENSOR
11: CLEANER RELAY C — Normally open 24: SENSOR CHECK SIGNAL —
12: RELAY C/D — Common 25: SENSOR
15 CLEANER RELAY D — Normally open

RE (8/11)

Page 5 of 14




AT Model A15/76 Turbidity Monitor - Wiring Diagrams

SYSTEM WIRING DIAGRAM w/OPTIONAL JUNCTION BOX

43mod

<

F1d

\S

| /R
0000000000000

sijzi[unfofs]8]c]sfs v [e]z]!

=0Z¢oll 0
T

=
&
FAEARARAA A AN EN D

g
[

(M3IA Yova)
YOLINON ALIQIgYNL 9Z-GIV

XYW 001

\ 378¥2 Q3A1IHS ‘OMV 22 ‘ONDJ 8

/A

4

LINANDQ #,2/1

1dN ¢.2/1 01 91 bd
J01dva¥ LINANOJ

1HM

J

40

[

JOSN3S ALICIBINL 9L/S 1Y

LI
—

8¢ (]

Nid

ELNLE]

NJO

2
O(|0|0|0|0|0|e|®
[(NINININISINININ

a3

¥3N0D LNOHLIM NMOHS
(9zL£0-00)

X08 NOILONNF

VIS 0400 1164

L

ATI-0445

Page 6 of 14

RE (8/11)



AT' Model A15/76 Turbidity Monitor - Sensor Dimensions and Installation

FLOW SENSOR DIMENSIONS
0 MONITOR
LI
B | |
L 1e” |
43mm
ATI-0434

FLOWCELL DIMENSIONS
3.60" |
9Tmm

MOUNTING HOLE
WALL MOUNTING »
CLAMP FOR 5/16” SCREW ”””H""H“ m

7.20"
183mm
—] AR
~— (5 ©
SAMPLE '[]|= g SAMPLE ~
OUTLET E': L= INLET O
| |
4.20"
107mm
ATI-0435

RE (8/11) Page 7 of 14




AT' Model A15/76 Turbidity Monitor - Sensor Dimensions and Installation

FLOWSENSOR/FLOWCELL INSTALLATION DRAWING

10.375"
264mm
SAMPLE
OUTLET
— ] | — —
— _ —— :
— — — L] 9T0 MONITOR
— =] —]
— = — —
=/ L] = ==
J
SAMPLE
INLET

ATI-0444

Installation of flowcell must be done Horizontally as shown above.

RE (8/11) Page 8 of 14



AT' Model A15/76 Turbidity Monitor - Sensor Installation

TURBIDITY SENSOR 172 FLOW TEE ASSEMBLY

FLOW TEE LOCKING
MNG_—\\\\f—_________“
BN SENSOR ADAPTER
________———“///////F_FHHNC
(63-0048)

~— SENSOR ADAPTER

0—RING
(42-0036)

A15/76 TURBIDITY
SENSOR

FLOW TEE FITTING
O—RING
(42-0037)

1-1/2" FLOW TEE
ASSEMBLY

FLOW 5 v — FLOW

VERTICAL CONFIGURATION IS RECOMMENDED
BUT HORIZONTAL CONFIGURATION ISACCEPTABLE,
PROVIDED SENSOR IS MOUNTED IN THE 3:00 OR 9:00

POSITION.

ATI-0542

RE (8/11)

Page 9 of 14




AT' Model A15/76 Turbidity Monitor - Sensor Installation

FLOW "T" RECOMMENDED PIPING

FLOW
-

11/2” BALL VALVE

FLOW

70 TURBIDITY ' f
MONITOR

1 1/2" BALL VALVE

FLOW
-

ATI-0513

VERTICAL CONFIGURATION IS RECOMMENDED

BUT HORIZONTAL CONFIGURATION IS ACCEPTABLE,
PROVIDED SENSOR IS MOUNTED IN THE 3:00 OR 9:00
POSITION.

1 1/2" BALL VALVE

RE (8/11)

Page 10 of 14



AT' Model D15-76 Auto-Clean Turbidity Monitor - Dimensions

D15/76 AUTO-CLEAN TURBIDITY MONITOR

14.00" . 8.80" . 400"
[355mm] ( [224mm] —‘ [11mm]
I5) © [H
® N\ ®
\ \ Vil
( N ,‘
5 4.75 o [ °
[121mm]
N [VIeg
10.187° ®\ \ \ﬁ\ : ®
[259mm] [9)(c= QS [F
® \
9.250"
[2semm] Pe EL MOUNTING HOLE
FOR #10-32 SCREW
TYP. 4 PLCS.
— @
Fe0 80 0 =
SENSOR CABLE
D e oo MG O ATING A e GAND FITG
12.70" NOTES
[322mm)]
135757 1) Nema-4X Encloure Material:
(otomn Base: Molded ABS, Tan in Color
Cover: Clear Lexan w/Dual Hinge
2) Nema-4X Rating:
Nema rated types 4, 4X
IEC 529 rated IP66
3) Sensor Material:
Noryl EN265 & Stainless Steel
ATI-0473
AUTO-CLEAN TURBIDITY SENSOR
SENSOR CABLE
CORD GRIP \
1/4" 1D x 3/8" 0D
HOSE BARB FOR AR
LINE
[ ]
2" NPT THREADS
191mm
™ ral
ATI-0553 e

RE (8/11)

Page 11 of 14



AT' Model D15-76 Auto-Clean Turbidity Monitor - Installation Diagrams

MONITOR HANDRAIL INSTALLATION

NOTES

HARDWARE SUPPLIED BY ATI
/ (4) $10-32 x 1" PHMS, S.S.
(4) %4~20 LOCK WASHERS, S.S.

‘ T (4) #10 HEX NUTS, S.S.
o & R
N\ §
N N | |l NEMA=4X MONITOR
N N |
® L1
e
8 g
22 1/8"
AC POWER

(2) ALUMINUM U—GHANNELS (48-0017)

\

AIR LINE  SENSOR CABLE

N

TO SENSOR

U U \
2" HANDRAIL

(4) %4-20 U-BOLTS (47-0005)

IS

ATI-0490

1) Always mount sensor cleaner within 25 ft. of
sensor if possible. Maximum air line distance
is 50 ft.

2) Sun shade over monitor is recommended in
hot climates.

3) Monitor Handrail Mounting Kit # 00-0930
supplies all hardware listed for mounting
monitor.

4) Wall mounting requires customer supplied
screws or bolts.

5) Sensor Pipe Mounting Kit # 00-0624 supplies
mounting plate with hardware and PVC pipe
mounting adaptor.

6) Sensor Pipe Mounting Kit with Rag Shedder
# 00-0629 supplies mounting plate with
hardware and PVC rag shedder.

SENSOR HANDRAIL INSTALLATION

/SENSOR CABLE TO MONITOR

FLEXIBLE AR LINE TO SENSOR

2" HANDRAIL
’//

¥ SWIVEL MOUNTING BRACKET WITH

HARDWARE, (00-628)

OR 1" SCHEDULE 80 PVC PIPE, LENGTH AS REQUIRED
(CUSTOMER SUPPLIED)

PVC PIPE COUPLING ADAPTER \ R
(SUPPLIED WITH KIT) 17 ALUMINUM CONDUIT, THREADED ONE END

770.7/0577;

|
/]
705000000507 //?7
120771

SUBMERSIBLE SENSOR —

RE (8/11)

Page 12 of 14




AT' Model D15-76 Auto-Clean Turbidity Monitor - System Interconnections

STANDARD SYSTEM WIRING DIAGRAM

@
O O
)ﬂ ® @
][2_ ®
TO MONITOR
I_ LOCATED
INSIDE OF
ENCLOSURE
@ @
O O
3 @

_ | | _
O J] ZZZ D N HIN H[N H]s H d 9 N H] IS EEAYYE A L O
$ [®§®§®§®§®§®Q®Q®Q®Q®Q®Q®] 2 SO0SS0S8888S @

ﬁ 2 %1%1%) I Y % %) %)% u\ul %)%
o TT] = SITTTITIT -5 ©
@ }E SE£E5223 m'
O—I—< cr=zZzzZ0
@® @
| | N\
O U [ ] ﬂ [T T[] [ ] [ 1 [ ] [1)] O )
L] [ ] L] [ ]
[——1 [——1
SENSOR
AR UNE AC POWER SENSOR CABLE

ATI-0534

RE (8/11) Page 13 of 14



AT' Model D15-76 Auto-Clean Turbidity Monitor - System Interconnection

REMOTE MONITOR WIRING DIAGRAM

"XYA L4 00S “TIavD OITTIHS OMY TZ "ONDD L
STYNINMIL ¥OSN3S MALINON d¥0/Hd 0L

319vD @ATIHS 9NV 2T "ONOD Z
STYNINYAL INVIS MOUNON d¥o/Hd oL

NOILI3INNOD
HOSN3S

¥Imod v 3NN AV
YOSN3S

aL

[

Z\# sod

12)
%)
%)
::E@

efaufofs]e]c]e]s[r]e]c]

.
= =]
2 off

L) Grnsamm

|| Ok c1# sod

P
S
N

S

XV VA 00 /

ZEIEIE ElgB ™
clva|ea|ee|12|02|61| B LT|9T|SE v

zal

dOLINOA ALIQIGINL J10NFY 40 MIIA oV

e
.

~

\

1l
1

ATI-0536

Page 14 of 14

RE (8/11)



